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3/18/2021
A carrier signal C(t)=25 sin(2.512 x10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 % 10°t) and transmitted through an antenna. What will be the bandwidth
of the modulated signal ?

Options :
86435112691, 20 MHz

86435112692, 8 GHz

86435112693, 201 GHz

86435112694, 1987.5 MHz

Question Number : 1 Question Id : 8643514231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Udh diEfHd a9 C(t) =25 sin(2.512 x 1010t) & R §&d m(t) =5 sin (1.57 x 108t) 5 3&EH
AURE $ell d AT URMNT dorl.  SAUREa Hhardl dgbal fddl ¥ ?

Options :

86435112691, 20 MHz

86435112692. 8 GHz

86435112693, 2U1 GHz

86435112694, 1987.5 MHz

Question Number : 2 Question Id : 8643514232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two cells of emf 2E and E with internal resistance r; and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
I [y
! K
AR
R
Options :
5
86435112695. =
rTl f I'z
86435112696. ~
86435112697. -
rytr,
86435112698.

Question Number : 2 Question Id : 8643514232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aM " Wi fagd ™ 9 2E 9 E 318 9 Jaea 09 AghH ry d 1, I8 A GRERIY R GRER

THENT Wieel. R o oI i Uigedl Herdl claimye fauaiay I =, 9.
2E E
II |
II !
AT TAT
R
Options :
i
Ui

86435112695.
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— I'z

iy
86435112696. ~

I, — I,
86435112697. -

T, Iy
86435112698.

Question Number : 3 Question Id : 8643514233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms ~! along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

26435112699 Y(x, )=0.03 [ sin 5.1x— (0.2 x 10%)t ]

Y(x, )=0.03 [ sin 5.1x— (1.5 x 10%)t ]
86435112700.

o g .
g6435112701. Y& §=0.06 | sin 5.1x= (1.5 x10°) |

S R g e :
86435112702, Y & §=0.06 [ sin 0.8x— (0.5x10%)t ]

Question Number : 3 Question Id : 8643514233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
245 Hz dRdRddl &4 997 300 ms~ ! 99 99 x-3&E=41 991 Udrd &i0d 8. d9El Udd

f&g TET 6 cm SORIGT Y& T 9T 7TCEM 3Te. &1 Ward BRI GYATEre] i Terdel HIvrdl
3T ?

Options :

Y(x, )=0.03 [ sin 5.1x— (0.2 x 103t ]
86435112699.

Y(x, )=0.03 [ sin 5.1x— (1.5 x 10%)t ]
86435112700.

3 D .
86435112701, T §=006 | gin 5.1x—(1.5x10)t |
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. B =006 | = . 3
86435112702, Y(x, t)=0.06 [ sin 0.8x— (0.5 x10°)t ]

Question Number : 4 Question Id : 8643514234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A geostationary satellite is orbiting around an arbitary planet ‘I at a height of 11R above
the surface of ‘P, R being the radius of ‘P". The time period of another satellite in hours at a
height of 2R from the surface of ‘P’ is . 'P" has the time period of 24 hours.
Options :

86435112703, °

86435112704, V2

86435112705. 3

6
_Il.—
86435112706, v=

Question Number : 4 Question Id : 8643514234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TP YRR 9UE UH! WWITAR! ‘P &l TeHEdl ‘P = TSHIINT 11R SdiaY S&d 390
®Rd S, WY R & T8 ‘P 9l Bl 3e. ‘P Je-dl TSSHFTURH 2R & Sdiay gHa1 Sudsrl
FIG A e, ‘P 9 AEDID 24 T IE.

Options :

86435112703, 2

86435112704, V2

86435112705. 3

Slo

86435112706. v
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Question Number : 5 Question Id : 8643514235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of
mass m moving with a speed v along the line joining A and B collides with A. The maximum

cnmpression in the sp rf_ng 15

C A
m — m |y v Yy ] m

=

Options :
o
ey
86435112707, V2K
m
e “]_’
86435112708, V2K

86435112709, V K

86435112710.

Question Number : 5 Question Id : 8643514235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M THURE S® A 9 B TG m SGANM e By Re eR[d L 9fif® widren g

K faimE Rerie svieical f8Tel Wiselel ded. C @ f9x1 Slddl, m S¥gAMN=T A 9 B
SITSUTRIT YNaY o 9 TIHE 39T A SRIEY 9O $xal. Mg geaq |ared
e

!
-
=

m _— m L Y Y Y Y o] m

Options :
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86435112707

86435112708.

86435112700, ¥ K

86435112710.

Question Number : 6 Question Id : 8643514236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring
constants K 1 and I'C2 respectively. If the maximum velocities during oscillations are equal,

the ratio of the amplitude of A and B is

Options :
Ky
86435112711, =
Ky

|
|
86435112712. \

86435112713, 1

||'E
K
86435112714, VK

Question Number : 6 Question Id : 8643514236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AREIE A A 9 B & 9 6 §F duHidierd RITURET ciffeiel sied 9 i i
fReRid gH K, 9K, 3ME. TR Sed 7ead 97 WREM e, A 9 B =1 M Ui

IS
Options :

%

KE
86435112711.

K4

86435112712. ko

e

86435112713, 1

K,

a

K4
86435112714.

Question Number : 7 Question Id : 8643514237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11

List - 1 List - 11
.TI"
(a) Phase difference between current and voltage (1) X current leads voltage

in a purely resistive AC circuit

(b) Phase difference between current and voltage in (i) zero

a pure inductive AC circuit

(c) Phase difference between current and voltage in  (iii) % current lags voltage

a pure capacitive AC circuit

(d) Phase difference between current and voltage in  (iv) tan

an LCR series circuil

Choose the most appropriate answer from the options given below :
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Options :

86435112715, @D (B){iid), ()-(iv), (d)-(ii)

86435112716, @) (i1), (b)-(iv), (c)-(iii), (d)-(i)

sea3si 12917 @) B, (©-0), @)-)

86435112718, @) (1), (B)~(iti). (0)-(iv), (d)-(3)

Question Number : 7 Question Id : 8643514237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&l — 1 el — 1 GRIEY ol
el — 1
(a) g¥d YE gRT URULd 9RT 9 @lecdl

Yl U] Bidh

(b) Wad-ie WGl €T IRYAE 9RT 9 @ecdl
Hdlel UGl Bl

(c) =IRGE UQmEdl OR1 URUAM oRT 9 @lecdl

YT Ulged] BIh

(d) LCR vsadldiel URUL 9R1 9 @ecdl A4d

UHET Bk

Grell féetedl R Irg SR fHae
Options :
86435112715, @) (B)-(iid), ()-(v), (d)-(i)

86435112716, @) (i), (b)-(iv), (c)-(iii), (d)-(i)

26435112717, @ (D, (B)-(iid), (0)-(), (d)-(iv)

et — 11
() 5 o e g
(i) =9
(i) 5 ; o e A
(iv) tan | [ Xc = Xy, ]
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26435112718, (@F(1), (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 8 Question Id : 8643514238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435112719, nductive reactance will be doubled and current will be halved.

86435112720, Inductive reactance will be halved and current will be doubled.

86435112721, Both, inductive reactance and current will be halved.

36435112727, Both, inducting reactance and current will be doubled.

Question Number : 8 Question Id : 8643514238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WY INARAl A Bell TY WU Wi 9 g Tadiie UNUAE S Bsa

Options :

86435112719, T WXIE SFUC B%A @ HR] ardl 2.

86435112720, TXU1 TS e B T NI SFUC BRA.

86435112721. ' I T AR e '

8643511272, e, XTI WIS @ RT SHUC Bclled.

Question Number : 9 Question Id : 8643514239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A sphere of mass 2 kg and radius 0.5 m is rolling with an initial speed of 1 ms ~! goes up an
inclined plane which makes an angle of 307 with the horizontal plane, without slipping.

How Iong will the sphere take to return to the starting point A7

A 30°

Options :
86435112723, 00 s

86435112724, U278

86435112725, 092 S

86435112726, B0 S

Question Number : 9 Question Id : 8643514239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 kg I¥gAEMEN 9 0.5 m BrouEr el fEfqeamiayEl 30° S $eicdl M Wdelldy godmarn

1 ms~ ! IF a1 &R 7 gRIa] 8] oidl. el gedn= A figeia Sec Jvamm fad
o5 SARTeA 7

= 30

Options :

86435112723, 60 s

86435112724, U027 8

86435112725, 022 S
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86435112726, B0 S

Question Number : 10 Question Id : 8643514240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
always rising to 100 of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms—2)

Options :

1
86435112727, 2.0 ms

1
86435112728, 2-20 ms

1
86435112729, 3.0 ms

1
86435112730, 220 ms

Question Number : 10 Question Id : 8643514240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- 81

AT 5 m Sda%e Uh Gl dg Cddl. Wdedl Saaed of TSdl [ 100 SEIDE

o g2l g8l 9 Adl.  Sgdl AR 97 Bel.

2

(g=10 ms™ = &)

Options :

1
86435112727, 20 ms

1
86435112728, 220 ms

1
86435112729, 3.0 ms

1
86435112730, 20 ms
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Question Number : 11 Question Id : 8643514241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v =0, + gt + Ft. Tts position is x=0 at t=0; then its displacement

after time (t=1) is :

Options :
vy % +F
86435112731. 2
1 g ;
86435112732, Yo T 28 +3F
F
I’{} | & - —
2 3
86435112733,
86435112734, S0t 81 E

Question Number : 11 Question Id : 8643514241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THT UMl 9T v=0v,+ gt+ F> 3ME. TN Refl x=0 & t=0 TamT 378, TR Ml 9 (t=1)
CECIEINERYINE] e

Options :
vy % +F
86435112731. 2
1 g :
86435112732, Yo 128 +3F
F
I’{} | &  —
2 3
86435112733,
86435112734, 0 T8 HF

Question Number : 12 Question Id : 8643514242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13/91
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A hairpf_n like shape as shown in figure is made h}-‘ bE‘IId]:_ﬂg a Iong current carrying wire.

What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle 7

I

S
Ead

F. 3

Options :

86435112735.

86435112736.

86435112737.

86435112738.

Question Number : 12 Question Id : 8643514242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P figay fohaa Tl a2 i sddgjoreal Ae0dy a7

I

L%
.

—_—

Options :

86435112735.

86435112736.
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86435112737.

86435112738.

Question Number : 13 Question Id : 8643514243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?
Options :

86435112739, L aschen series

86435112740, balmer series

86435]]274] Lyman series

86435112742, Brackett series

Question Number : 13 Question Id : 8643514243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
F0aF BTSIA- ddTadl 20T Heledl YUIg Ul 918y clddl. Bdehad afvdd Giddarel DIl

U T WEIT SE?

Options :
86435112739, 1% bl

86435112740. A

86435112741.

sipe S
86435112742.

Question Number : 14 Question Id : 8643514244 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies f; and f, respectively. If the

velocities of the photo-electrons coming out are vy and v, respectively, then

Options :
| =
 — Uy = [i[,.fl fz‘l}_
86435112743 &
2 2h
) =03 = —lf1 —f2]
86435112744, m
1
2h 2
™ +7y = [—{fl ',.Jrz.‘l}
86435112745. m
2 » 2h
0y +v3 = —|[f1 +fal
86435112746. e

Question Number : 14 Question Id : 8643514244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SN UHURYE USRS f; 9 f, IRGRTY DY Udd. WX 9@ Useiedl Whlel Seidgi-d di

FIHH vy 9 v, AMed, W

Options :
']1 1
0 — 0y = [;Tjul m}‘
86435112743,
» 2h
vp —vp = —1f1 —fal
86435112744, m
1
2h 2
™ +7y = [—{fl u@}
86435112745, m

2 2 2h
) +05 = —1f1 +fa]
86435112746. L
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Question Number : 15 Question Id : 8643514245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following will be the output of the given circuit ?

A— o
L
=

B
Options :
86435112747, AND Gate

86435112748, NAND Gate

86435112749, XOR Gate

86435112750, VOR Gate

Question Number : 15 Question Id : 8643514245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feerem aRuY Eelais! SR Ue e ame?

A

[ ——

——

B
Options :

AND g
86435112747.

86435112748. A

86435112749. s

86435112750. OB B

Question Number : 16 Question Id : 8643514246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

17/91



3/18/2021
Correct Marks : 4 Wrong Marks : 1

The four arms of a Wheatstone hridge have resistances as shown in the [ igure. A galva_tmmeter

of 15 (1 resistance is connected across BD. Calculate the current through the galvanometer

when a potential difference of 10 V is maintained across AC.

Options :

86435112751, =44 LA

86435112752, 244 mA

86435112753, +87 pA

86435112754, 187 mA

Question Number : 16 Question Id : 8643514246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feecTerT=ar Sgae Ir YuliFdlel Y P SrEPTaIyHEYT e, 15 O AgrEl e@HEeY BD

AL Greell 3ME. Wil AC A8 10 V 9 fq9aiay Sacl J= TeeHiiey HYd SR 8RT $iel.

Options :
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86435112751, =44 BA

86435112752, 244 mA

86435112753, +87 pA

86435112754, 187 mA

Question Number : 17 Question Id : 8643514247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=0.693 )

Options :
86435112755, 1167 10% kg ™

3 2 1
86435112756, 009 ¥ 107 kg s

ry 3 1
86435112757, >/ 107" kg's

3.3 x 102 !
86435112758, -2 <107 kg s

Question Number : 17 Question Id : 8643514247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 kg IEGAMET Shodl FEITTeT SiTSeiell 3T o 12 cm e Yol UMM Sleid HYId e,
I fAfeidaR ama™ 6 ocm 9dT FHI BAl. = Afas A qaRed RexiEd FTel.

(=T In 2=0.693 )
Options :

) ] 1
86435112755, 110% 107 kg s

3 2 1
86435112756, 09 * 107 kg s

rd 3 1
86435112757, >/ 107" kg's

19/91



3/18/2021

3.3 % 102 1
86435112758, -2 <107 kg s

Question Number : 18 Question Id : 8643514248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If one mole of the polyatomic gas is having two vibrational modes and J is the ratio of molar

specific heats for polyatomic gas (B = C—PW then the value of §§ is :
" V r
Options :
1.25
86435112759.
i 7
86435112760.
86435112761, 1+3°

86435112762, 1:02

Question Number : 18 Question Id : 8643514248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
W} U Hici=dl SV WGl 3 HUHIe UPR AET 9 ggAUae IiIgde! B E Ao [Afne

~

Eﬂmﬁﬁé'{pﬁﬁFI-(ﬁ =

t‘.

£
2
;
¢
|

Options :

1.25
86435112759.

1.2
86435112760.

86435112761. 1.35

86435112762, 1:02

Question Number : 19 Question Id : 8643514249 Question Type : MCQ Option Shuffling : Yes Is
20/91
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thc-nnnd}-'na_t‘nic processes ?

3
T +«——— adiabatic
P
isothermal
(a)
vV—s
F
T «—isothermal
\l'.-
adiabatic
(c)
—

Options :
(a) only
86435112763. .

86435112764, (£) and (c)

86435112765, (€ and (a)

86435112766, () and (d)

Question Number : 19 Question Id : 8643514249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

/ f isothermal

adiabatic

g —

fs,

isothermal

n B

9/

.
r

T—>

N

adiabatic

L 4

T—>

21/91
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SF Il SHFAS Tgarded Sl Udh Udig giay e’

L o =
T «—— adiabatic T / f isothermal
E p
isothe rmal
(a) (b) .
adiabatic
v — T T

A A
T «—isothermal T isothermal
Vv P LS S

adiabatic 2 -
(c) \< (d) / adiabatic

T—> T—>

W

Options :

86435112763.
86435112764.

86435112765, (&) 9 (@)

86435112766, (<) T (d)

Question Number : 20 Question Id : 8643514250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An object is located at 2 km beneath the surface of the water. If the fractional compression

~ is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm ~® and g =9.8 ms ™ 2]
Options :
e 7 2
86435112767, 1:96 <107 Nm

22/91
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[

86435112768, 144 <107 Nm

2.26 %107 2
86435112769, 226107 Nm

[

w109
86435112770. 1.44 x10° Nm

Question Number : 20 Question Id : 8643514250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U] YSHFTERT 2 km aX Udh o¥q fadell. SR e Hdls %%1.35?{; e, sfdd

it ¥ G4 R IExERd UiRR 3,

[ 9TogrET BET 1000 kgm ~ 3 &€ 9 g=9.8 ms~ 2]
Options :

oy ’
86435112767, 1-96>107 Nm

]

86435112768, 144 %107 Nm

2.26 x 107 2
86435112769, 226107 Nm

2

" (3
86435112770. 144 >10° Nm

Physics Section B

Section Id : 864351284
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351284
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643514251 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A 2 uF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 uF. The

charge in C > 0N equilibrium conditionis __ pC. (Round off to the Nearest Integer)
S
1 52
2 nF 8 wF
1ov] Tc, T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514251 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C, 2 uF d HuIR= 9em gt 99 10 V favafaR™ aiRa $el. Fa) 9ei Sigd cideil @
8 uF d C, & UUIRT -TWelel WeIR= HEIRAN Wieel. WA 3 C, a¥lel TR
wC S8,  (Slde=al quiiehiuda)

S
o1

52

10V Cy C,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514252 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

24/91
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A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)
[Take g =10 ms 2]

W
M

W
i

o
o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514252 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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5 kg XgHMIAT <iib el b Sty U 4 kg aegaHaEl ol 99T 318, WX elds g WA dlilel
oYUl UG 0.5 IS, 98] I HAIGH dol SNEY old, Uhd {6 eberdl ghel ARl WRae

BCUIY ATEl, o N 3M&. (Wdel quiaradd)

[ &1 g=10 ms~?

v |

L
T

i
o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514253 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The image of an object placed in air formed by a convex refracting surface is at a distance of

rd
10 m behind the surface. The image is real and is at E of the distance of the ohject from

the surface. The wavelength of light inside the surface is 5 times the wavelength in air. The

; T - :
radius of the curved surface is — m . The value of ‘x" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 23 Question Id : 8643514253 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

qiatiiel Weld SRUAMHe ARl H61 10 m SHTNGY Bddlel aegdl YAl TR el 9 UieA &

Waﬁgﬂwﬁw%mm. x ¥ 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514254 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

[x
\5

Response Type : Numeric

E. Where the value of x=

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514254 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 m SA¥Edlel 100 W $7AURT §18Y Useicl WRUIET fag[d &= iadl E 8. " aNde

60 W Hob §/e¥ JsSeicdl WRUMYe faege &=t < V'%E dqE. WA x=_ g e,
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514255 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x102 Hz, has permittivity £¢=80¢, and resistivity

p=1025 {dm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10" times the displacement current density after time t = 300" The value of x is

(Given : = 9 x 10° Nm*C™2)

dreg
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643514255 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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f=9x10? Hz dRIRAl GY=AT Gvard WRIAgdi® e=80g, T Jfadl p=0.25 Qm &, 30

Heql B 6 S Uva GHiaY TSl WHIRA gefdel @ V(i) =V, sin(2mft) & TAEd

e 1
el ST Il Pel. TR I8 §RT Bl 107 9 t= oons =1 faeeaeT a8 | aa=

e, x o I e,

(feet 3T - L _o9x10° Nm?C~2)

—l’:rE.[}

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514256 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given by E = EE{}: I %E{) ; with Ej = 4.0 x 1[13%. The

flux of this field through a rectangular surface area (0.4 m?2 parallel to the Y~ Z plane is
Nm2C 1,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643514256 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TH W e & e e, E:%nﬁ? | %nﬂ}" S Eg = 40 X 1[13%. o R Y- Z

gaellell HHIAY AHeicdl 0.4 m? AFATH TSHT SoAbaid oy fyaE
NmZC~ ! ams.
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643514257 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The disc of mass M with uniform surface mass density o is shown in the figure. The centre of

where

g |w
9|

R : NS - X
mass of the quarter disc (the shaded area) is at the position e

ris . (Round off to the Nearest Integer)

[a is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514257 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AP STEAHTAT THaaH dvgAE M 3¥eicdl Tads[l JO9FT B4l o 38. {4
WS

th

\iréi IFEE x e,

Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514258 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A hf}d}-‘ of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

1
friction —. It is desired to make the bod}-' move b}-‘ appl}-'f_t'lg the minimum possible force

5

F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms ™ 2|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 28 Question Id : 8643514258 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 kg aegAMEl T fafeaaoy SfHEr fRer aﬁéﬁﬁwﬁwaﬂmwﬁ% e, I

aufér ame f& & 9% F N vac SAld Sl 360 A¥eicdl gl TRHAE dgel. F 9 4
. I¥E. (Sacen gulied)

[ &1 g=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514259 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r)= U If

1
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with n« , where

o 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514259 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ur)=Ugr! Tdeal =g fa9d 8Rd m SRHAEI SV dqaldR  $ad THF e, deel

aﬂmaﬁwwaﬂﬂwmﬁﬁwmﬁn% THTOT §eeld, WY o=
3E.

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643514260 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 em? of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

1
3 )3 _s
radius (—W » 10 3 cm. Then the thickness of oleic acid Ia}-'er will be x x10~ 14 m,
" A

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514260 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Flcilh TFeIrd Ta¥el Ul 39 Hdel &l A Haaul Thl cm” 3lciid Aol 0.01 cm® 2.

4 %fxm—’*cmﬁ@%r1m1ﬁweﬁaﬁamaw4cmzmmmﬁma
T

STIUITUIA IR & el (V6 XV WISTdl) Fa¥ 3ficlld  raredl X Udl ATH R
x10" 1 m IR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351285
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351285
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435112781. s

NO,
86435112782. =

D"S
86435112783, -

86435112784. =

Question Number : 31 Question Id : 8643514261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

86435112781, V3
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86435112782.

D?
86435112783, -

CL0
86435112784. =

Question Number : 32 Question Id : 8643514262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
During which of the following processes, does entropy decrease ?
A) Freezing of water to ice at 0°C

(

(B)

(C) Ny(g) + 3Hy(g) — 2NH;(g)
(

(

Freezing of water to ice at —10°C
D) Adsorption of CO(g) on lead surface.
E) Dissolution of NaCl in water
Choose the correct answer from the options given below :
Options :
86435112785, ) (B) (C) and (D) only

86435112786, () (C) and (E) only

86435112787, (A4) and (E) only

86435112788, () and (C) only

Question Number : 32 Question Id : 8643514262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Eeyd! BTl ipdd Trgal HAl B 7
(A) U 0°C & g%id Sl

(B) WA —10°C & SW%ia a0

(C) Nyg) + 3H,(g) — ZNH,(g)

(D) CO(g) ¥ oi=dl YSHFIEY Sy 2o
(E) NaCl d Uvara faveeu

Geilel WY aRER 9T) Hael ¢

Options :
86435112785, (A): (B), (C) ST (D) W

86435112786, (), (C) ST (E) Haet

86435112787, (A) 30T (E) o

86435112788, (B) ST (C) e

Question Number : 33 Question Id : 8643514263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :
Options :
24
86435112789, D2

b
86435112790, \@

PO
86435112791.

SO%
86435112792.

Question Number : 33 Question Id : 8643514263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FUT HicT=dl AIHBUIES] Teild Wl U] o W HUHE! St ST8eiell el

< IS
Options :

ad+
86435112789, 52

-
86435112790, V2

PO
86435112791.

SO3
86435112792.

Question Number : 34 Question Id : 8643514264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual reIationship from those of the other sets is :

Options :
86435112793, be - Al

86435112794, B =S

86435112795, Li—Na

86435112796, i~ Mg

Question Number : 34 Question Id : 8643514264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HAolgadidl e Wl 3a¥ 7cien dfesl e o CIES

Options :
86435112793, be - Al
86435112794, B = Si
Li- Na

86435112795.
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86435112796, -~ Mg

Question Number : 35 Question Id : 8643514265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Haematite () Al,O5xH,O
(b) Bauxite (ii) Fe,O4
(c) Magnetite (iii) CuCO5Cu(OH),
(d) Malachite (iv) Fe,0,

Choose the correct answer from the options given below :

Options :
86435112797. (@)-(1), (b)-(iii), (c)-(i1), (d)-(iv)

86435112798. (@)-(ii), (b)-(1), (c)-(iv), (d)-(ii)
86435112799 (@)-(1v), (b)-(i), (c)-(ii), (d)-(iii)

26435112800, @ (i), (b)-(iii), (c)-(i), (d)-(iv)

Question Number : 35 Question Id : 8643514265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST - 1 1T - 1190 o

RICIE | TEl - 11
(a) fememe (i ALO;xH,0
(b) dIFEET (i) Fe,O,
(c) ¥eEe (iii) CuCO,4Cu(OH),
(d) HeTHEE (iv) Fe,O,
Gl WAAgT aReR SR Fasl.
Options :

86435112797, @1, (b)-(iii), (c)-(ii), (d)-(iv)
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86435112798, (@)(i), (b)-(i), (c)-(iv), (d)-(ii)
26435112799, @-(¥), (B)-(1), (€)-(ii), (d)-(ii)

26435112800, (@(L), (b)-(iii), (c)-(1), (d)-(iv)

Question Number : 36 Question Id : 8643514266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion

exchange resins, respectively, are :

Options :
SO,H and — NH,
86435112801, : h
86435112802,  VH, and —COOH
NH, and ~SO;H
86435112803 2 )
86435112804, OO3H and — COOH

Question Number : 36 Question Id : 8643514266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I G S0 MG [GiHg Weddiel A fa-Ha qUISHETe] Jaean el haldd

| I | 5

Options :

sea3siiogol,  SOH MU —NH,

s6435112800. ~ NHp 3T —COOH
86435112803, ~ NHp SO —SO;H

26435110804, — SO5H MM — COOH
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Question Number : 37 Question Id : 8643514267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of NH, from Solvay process is :
Options :

NH,CI
86435112805,

Ca(OH),
86435112806. <

CaCl,
86435112807. =

NaHCO,
86435112808 ~

Question Number : 37 Question Id : 8643514267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hiceall Ugdid NH, IRd Hoquarde! defedl Ufihdd TaR EUIRT U80S 3E.

Options :

NH,Cl
86435112805,

Ca(OH),
86435112806. s

CaCl
86435112807, ~ -2

NaHCO
86435112808, -3

Question Number : 38 Question Id : 8643514268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set that represents the pair of neutral oxides of nitrogen is :
Options :
86435112800, O 4 N0

N,O and NO,
86435112810. = &
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NO and NO,
86435112811. =

N,O and N,O,
86435112812, = A

Question Number : 38 Question Id : 8643514268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARG SEIN Sedge=l wieddl e HE.
Options :

864351128009. o O

86435112810. e N

86435112811. NO NO,

86435112812, N2O ST N, O,

Question Number : 39 Question Id : 8643514269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The common positive oxidation states for an element with atomic number 24, are :
Options :
86435112813, t1to +6

86435112814. T2 to +6

86435112815, T 1 and +3to +6

86435112816, " L and +3

Question Number : 39 Question Id : 8643514269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
24 U] P IJEUNT YolweATAl HIERUT Hifrde e 3Te.

Options :
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86435112813, H1 9 16

86435112814, 27T +6

86435112815, +1 SO +3 T +6

86435112816, 1 ST +3

Question Number : 40 Question Id : 8643514270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NH;)s] [Cr(CN)g (i  Linkage isomerism
(b) [Co(NH;); (NO,),] (i) Solvate isomerism
(c) [Cr(H50):]Cl4 (iii) Co-ordination isomerism
(d) cis-[CrCLy(ox),]? (iv) Optical isomerism

Choose the correct answer from the options given below :

Options :
86435112817, @-(1), (0)-(ii), (c)-(iii), (d)-(iv)

26435112818, (@)-(11), (b)-(1), (c)-(iii), (d)-(iv)
86435112819, (@(iid), (b)-(i), (c)-(ii), (d)-(iv)

26435112820, (@ V), (D)-(1D), () (1), (d)-(i)

Question Number : 40 Question Id : 8643514270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1Y - 1 AT - 11 SRIER Goadl -

1 - 1 T - 11
(a)  [Co(NH;)e] [Cr(CN)] (i) @ SR
(b)  [Co(NH;),(NO,),] (i) fama FHeEa
(c) [Cr(H0)6]Cly (i) HEFgdl FHYA
(d)  cis-[CrCl,y(ox),]? (iv) TS HERET
Gelid G sREY 9% FEel
Options :

36435112817, @)F-(1), (b)-(ii), (c)-(ii), (d)-(iv)
26435112818, (@)(i), (b)=(i), (c)-(iii), (d)-(iv)
86435112819. (a)-(iii), (b)~(1), (c)-(ii), (d)-(iv)

s6435112820. @-V), (b)), (c)-(ii), (d)-(1)

Question Number : 41 Question Id : 8643514271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth
Choose the most appropriate answer from the options given below :
Options :
86435112821, (A) only
86435112822, (B) and (D) only
(C) only

86435112823.

86435112824, (D) only
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Question Number : 41 Question Id : 8643514271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Eeiledud] JUINUTHELRIE (eutrophication) STV a8/ g gHi=/Johl g/ 3ed 2
(A) Tl AfeE SRG 9aY

(B) frici@mn sife WG aa=

(C) UIvAITel 9gdial Sl avil

(D) UKl UMNGiEl 34 WMo 9 eddidl di¢ Bld el

Cellel WM Hdid W 37 9 Hael.

Options :

86435112821. (A)

86435112822, (B) SO (D) T

86435112823, (©) P

86435112824. (D)

Question Number : 42 Question Id : 8643514272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nitrogen can be estimated by Kjeldahl's method for which of the following compound ?

Options :

86435112825. I

86435112826. CHp —NH;

44/91



3/18/2021

86435112827. N

86435112828,  N=NCIT

Question Number : 42 Question Id : 8643514272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
vieerdl Ugd AlGed FREd@ aRieya! vl €k Bl dgel 7

Options :

86435112825, NG
86435112826. CH; —NH,
86435112827.

+
86435112828. N=NCl

OO

Question Number : 43 Question Id : 8643514273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(©) AgNO,/KNO,
(D) Agl/KI
Options :

86435112829, (A) only

86435112830, (B) only

86435112831, (A) and (C) only

86435112832, (B) and (©) only

Question Number : 43 Question Id : 8643514273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IHASA! (ambident) FRIHEEl TS/ ST 3T/ 3MTed.
(A) AgCN/KCN

(B) RCOOAg/RCOOK

(©) AgNO,/KNO,

(D) Agl/KI
Options :

86435112829, (A) T

86435112830, (B) P

86435112831, (A) T (C) Had

86435112832, (B) SO (C) B

Question Number : 44 Question Id : 8643514274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1 :  2-methylbutane on oxidation with KMnQO, gives 2-methylbutan-2-ol.
Statement 11 : n-alkanes can be easily oxidised to corresponding alcohols with KMnO .
Choose the correct option :
Options :

86435112833, Both statement 1 and statement 11 are correct

86435112834, Both statement 1 and statement Il are incorrect

86435112835, Statement 1 is correct but statement 11 is incorrect

86435112836. Statement 1 is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643514274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Geil 3 fagr feefelr amed.

faus1: 2-HgEA"ycT= KMnO, d9d ATl 2-Resasge-2-aia .
faam 1: KMnO, 680 n-3leh~d Y00 HfrTSIpTul 8- ToaH Jedleeny fHedrd.

CRICEER S DI
Options :

86435112833, 198 1T fae 11 S8 aR1aR 3fed

86435112834, 198 19 8 L= 9$ afmed

86435112835, 19T 1 SRIGT & TOT fAer 113 3e

86435112836, 199 1 & 32 U7 fag 11 SRR 38

Question Number : 45 Question Id : 8643514275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose the correct statement regarding the formation of carbocations A and B given.

e
» CH3 — CHE - CHE e CHE +Br—
II’.I'AJF

CH3— CH, —CH = CHj + HBr

+
» CH; - CH,;,—CH—-CH;3+Br™
i B i
Options :

86435112837, Carbocation A is more stable and formed relatively at slow rate

86435112838, Carbocation B is more stable and formed relatively at slow rate

86435112839 Carbocation A is more stable and formed relatively at faster rate

86435112840, Carbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643514275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

+
» CHy—CH,—CH, —CH, + Br™
.I'.I'AH'

CH;—CH,—-CH=CH,+HBr

+
» CH; —CH,—CH—CH3+Br~
ll’.l'Bflf

A SfUT B @11 TR BV SIeihed-al Hadiie avey faum el
Options :

96435117837 FEHCET AT WG R A o JoTHd HAl I TAR 2.

86435112938, FEHCET B T WG &R 3 O goricia &4l O TR 8.

86435112839 FEHCET AT TR ReR 3 O JoriA® oI 97 Ta1% 8.
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86435112840, PraHeEd B & WG ReR A o JoHidid Wik 99H TR 2.

Question Number : 46 Question Id : 8643514276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CraHpOqy +HyO — 225 CoHy204 +CoHip2Op

Sucrose Glucose  Fructose
CeH,0—22me B , 2C,Hs;OH+2CO,
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435112841, nvertase and Zymase

86435112842 Zymase and Invertase

86435112843, mvertase and Amylase

26435112844 Avmylase and Invertase

Question Number : 46 Question Id : 8643514276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- fa&T A - .
C1oHp 047 +HyO ——————— CgHy 504 +CHy5Og

SEaE] PN WECH
Ca0:— T8 L or L OH+2005

el sfHfepaiciial f[aey A i fase B argHH 3re.
Options :
86435112841, STECS AT AT

86435112842, FaA 3 for g7

86435112843, ¥ ECol T 3 e

86435112844. 3
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Question Number : 47 Question Id : 8643514277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,4
(A)
In the above reaction, the structural formula of (A), “X" and “Y" respectively are :
Options :
N5 OCH,
e
86435112845. Cl
N, OCH,
7
86435112846.
Ny CI-
I>W<H
: H O H - HQD
OCHj,
86435112847. -
5 Cl-
n
4 CH;-C—-H , Hd
OCH;4

86435112848.
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Question Number : 47 Question Id : 8643514277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OCH;

C;H,N,0Cl + C,HsOH ——> + Ny+"X" +"Y”
(A)

INIel AfHfehAel (A), “X” MO “Y” Tl HJHH WXTl
Options :

86435112845. Cl

T
»  CH3—C-H, H,0

86435112846. Cl

H
, Hj :o; ~q - HO
86435112847. Qckh
N; Cl—
T
+  CH3—-C-H , Hd
86435112848 OCH;
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Question Number : 48 Question Id : 8643514278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :

86435112849, Chloroform and KOH

86435112850, Penzene sulphonic acid

86435112851 para-Toluene sulphonyl chloride

86435112852, Acetyl amide

Question Number : 48 Question Id : 8643514278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UIHG, fgdae vl g 3mE~q 9% d9die hRdl ddd.

Options :
86435112849, FARIBIH ST KOH

86435112850, S5 HEHIG I

26435110851, TXI—CIegET MTPMHIA FeiRIgS

86435112852. E %S

Question Number : 49 Question Id : 8643514279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - | with List - IL
List - 1 List - 11
Chemical Compound Used as
(a) Sucralose i)  Synthetic detergent

(c) Sodium benzoate

(

(b) Glyceryl ester of stearic acid (i)  Artificial sweetener
(i) Antiseptic
(

(d) Bithionol iv) Food preservative

Choose the correct match :
Options :
86435112853, @)-(1), (b)-(ii), (c)-(iv), (d)-(iii)

86435112854, (@)-(1), (b)-(1), (c)-(iv), (d)-(iii)
86435112855, (@)-(), (b)-(ii), (c)-(ii), (d)-(i)

86435112856, (@) (1i), (b)-(i1), (c)-(iv), (d)-(i)

Question Number : 49 Question Id : 8643514279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G-I A1 SRE el

pICis| arEI-1l
YRS G EIHGEG!
(a) Ydlerd (i) WHeelld fAHe®
(b) TReaR® AFEl WERe S8 (i) A A1gdH
(c) wrfsem dsive (i) qRIED
(d) TarersiTer (iv) 3= TNR&®H
R T FEe
Options :

86435112853. (@k(1), (b)-(ii), (c)-(iv), (d)-(iii)
86435112854. (@)-(ii), (b)-(1), (c)-(iv), (d)-(iii)

86435112855, @)F(W), (b)-(iii), (c)-(ii), (d)-(i)
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86435112856, (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643514280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fructose is an Dxample of :

Options :
86435112857. Aldohexose

86435112858, [etohexose

86435112859, Lyranose

86435112860, 1eptose

Question Number : 50 Question Id : 8643514280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
86435112857. ELEILERIE

86435112858, 1 C :

86435112859.

86435112860. SV

Chemistry Section B
Section Id : 864351286
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
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Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351286
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514281 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gasatSTPis

to the Nearest Integer).
[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K~1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514281 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

20 mL TS argAga STP uRRf¥axia Feify-=ar Juj= w&n

(GTdeeal QUi
[ FAIRA B STP & 3Ee a1y 18 39 HHGl
R=0.083 L bar mol~! K~1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514282 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10?1, (Round off
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KBr is doped with 10 ~> mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10!, (Round off to the Nearest Integer).

[Atomic Mass : K:39.1u, Br: 79.9u
N 4 =6.023 x 1033]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514282 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SrBr, =1 10~ Al TddT KBr =1 Ueld &ell 3. 13 KBr =1 WhicaTilel S Raavar
T 1014 312 (Sfaceal quiiad)

(310 aga: K : 39.1 u, Br: 799 u
N, =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514283 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%10~ ! BM. (Round off to the Nearest Integer).

[Given : 3 =1.73, V2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 53 Question Id : 8643514283 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe(Z=26) =41 Hd <l ¥ BFd gafed ATeol _  x10~1 BM &8,

EECZIR L)

(Rrerer oM < 3 =1.73, V2 =141)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514284 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 1 molal K, Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.

The molar mass of A is __u. (Round off to the Nearest Integer).
[Density of water = 1.0 g cm™ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514284 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

THT 1 Hletel K Fe(CN), =1 <19vmal fa=roner 04 3. @l Schadie ga-a1 Uhl SEoml
Y e WO 18.1 dui1 cadl A & TP fdgd IFIATHCHl S0 &, A 9 VU] agd™
u 3ME. (Tacear quiarnd)

(UTUArET BT = 1.0 g em )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 55 Question Id : 8643514285 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction [N 204(g) === 2NO,(g)- The temperature at which K(_ =204 and
Kp=600.1, is _ o
[Assume all gases are ideal and R=0.0831 L bar K~ ! mol "]

_ K. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514285 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AETT BT N,0,(p) == 2NO,(p) K-=204 3ifuafear snfor K,=600.1 3deiel qrqH

K el (Siaeen quiard)

(Hd ofE%l 9r SEd S WA R=0.0831 L bar K~ ! mol 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514286 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A KClI solution of conductivity 0.14 S m ~ ! shows a resistance of 4.19 (2 in a conductivity cell.
If the same cell is filled with an HCI solution, the resistance drops to 1.03 (). The conductivity
of the HCI solution is %x1072S m~ 1. (Round off to the Nearest Integer).
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 56 Question Id : 8643514286 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

UH] dieddl 9o 0.14 S m ~ ! arEdar o= KCl =7 SIavIEn 309 4.19 ) 38, WY | dieddl
Herd HCl ¥ S[E0 99l oY 9 1.03 O Sa91 Usdl. HCl =01 SEvET dieddl
x10"2S m~1 2. (Side=al YUlid)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643514287 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A + B, — 2AB is an elementary reaction.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of __. (Round off to the Nearest
Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514287 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2A+B, — 2AB 2 o mafae sfufear e,

HfHfep TR =l Tl fafire ARMEl WY Wiedrd SMEHRAM 3 21 U HHl $el T Jfafpd
Gui U dicel. (Wacel uiem)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
59/91



3/18/2021

Possible Answers :

100

Question Number : 58 Question Id : 8643514288 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeC 13 with oxalic acid in aqueous solution containing KOH, resulted

in the formation of product A. The secondary valency of Fe in the product A is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514288 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KOH 3¥eiedl Weild Sravidiel Sfaslicid Femargd FeCl, ol 3ifaferar $efl saar S
A TR Hel. 99E A el Fe 91 fgftgs |@gen @, (V9o quie)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514289 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C;H;,O) is
to the Nearest Integer).

. (Round off

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 59 Question Id : 8643514289 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dRTCH 4 NaOH SREX 3fHispar Heil 3 #i¥ca sffess (C H,,0) TR 2. HRck
Hlearge A4lel TgU C-C 1 (sigma) &8/ T Ha&= 8. (Sde=al quieid)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643514290 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0
| 0
C
i =
0.140 g 0.388 g 0210g

Consider the above reaction. The percentage vield of amide product is _ (Round

off to the Nearest Integer).
(Given : Atomic mass : C:120u, H: 1.0u, N: 140 u, O: 16.0 u, Cl : 35.5 u)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643514290 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

61/91



3/18/2021

I
C
~l _
+ (_E:J 1_|:|N| |[ﬁﬁf |5 E— CﬁHE_C_N_{CHHE}Q
0140 g 0.388 g 0210g
i Afufepar A& =1 HSe S9e™l oFdl W e, (el QuUliehla).

(feetet GTI'E:GTQIWFT C: 120, H:10u, N:140 1,0 :160u, C1:355 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351287
5

Online
Mandatory
20

20

80

Yes

1
864351287
Yes

Question Number : 61 Question Id : 8643514291 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. . . g e 1 2
The number of solutions of the equation sin 1[1‘2 I —} + cos 1[12

W |k
e
I
e

-3

<, for

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is :

Options :

86435112871, U

86435112872. 2

62/91



3/18/2021

86435112873, *

86435112874, Infinite

Question Number : 61 Question Id : 8643514291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

sin_l[xz | ﬂ b cos™] [1‘2 ﬂ — x? U TSR SHeirdl W&, xe[ 1, 1] ST ST

[x] & x Thar x Y&l i8F SHUIY Ha<H DC?TTT:F (greatest integer) Eﬁ.’f‘ﬁﬁ, ERCE e,

Options :
86435112871, U

.
86435112872. ~

W

86435112873.

86435112874.

Question Number : 62 Question Id : 8643514292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[f the Boolean expression (pAq)#®(peq) is a tautology, then ® and @ are respectively given by :
Options :

86435112875, ™V

86435112876, 7 7

86435112877. "

86435112878, "

Question Number : 62 Question Id : 8643514292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

63/91



3/18/2021
Correct Marks : 4 Wrong Marks : 1

WX (pAq)@(peq) & i@ USEell (Boolean expression) 3elU (tautology) 318, WX @ 30l ¢

FJHY foerer amed
Options :
86435112875, "V

86435112876, 1

86435112877. "

86435112878. "

Question Number : 63 Question Id : 8643514293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let O be the origin. Let OF =xi + yj kand OQ =-1 + 2j + 3xk,x,yeR, x>0, be

— : —, ' —_— ; — A A A
such that |PQ| = ¥20 and the vector OP is perpendicular to OQ. If OR =3i + zj - 7k,
| 0 - _} ) ) g
z € R, is coplanar with OF and OQ, then the value of x=+ =+ z= is equal to :
Options :
86435112879, 1
2
86435112880. =
86435112881,

86435112882, 2

Question Number : 63 Question Id : 8643514293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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— . M A —_— A A A
TG O & ARAMGG 3. F9all OP =xi + yj — k AT OQ =i + 2 + 3xk,x, yeR,

PQ‘ = J20 1T 9§ a9 Op @l OQ @ @9 (perpendicular) ATE. A9

x>0, dH &I

OR =3i + zj — 7k, ze R, OR, OP M0 OQ & THUTCIT 3M&d, T x> +y>+2° 4 Jod
EEIEE e,
Options :
86435112879, 1|
3
86435112880, =
86435112881, 7

86435112882, 2

Question Number : 64 Question Id : 8643514294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 42 x

of the matrix |4 5.2 y is zero, then the value of k% is :
5 Kk =z

Options :

86435112883, ©
86435112884,
86435112885, -

86435112886, 2

Question Number : 64 Question Id : 8643514294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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WY x, y, z & 7O &l (arithmetic progression) HEY 3ed. & HAM d¥ (common

3 42 «x

difference) d @&, x = 3d, 30T |4 5,2 y | 1 ARUIET R Ul (determinant) LN e, T
5 k 1z

Kdqg e

Options :

86435112883, ©

86435112884. ~~

86435112885,

=]
-2

86435112886.

Question Number : 65 Question Id : 8643514295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan(w co 526]

The value of the limit lim

: —— is equal to :
8—0 sin (2 sin~0)

Options :

| =

86435112887.

86435112888, 2

e | =

86435112889.

86435112890.

Question Number : 65 Question Id : 8643514295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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' 2

tan(rr cos20) .
lim m{'“““’?_' T EHBE (limit) qoO AT S
8—0 sin (2 sin"0)

Options :

1
86435112887, 4

86435112888, 2

s | =

86435112889.

86435112890.

Question Number : 66 Question Id : 8643514296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

' 1

101 sin 27rx] Al =

If the integral =] dx =ae 14 pe < + v, wherew, B, v are integers and [x] denotes
0 e

the greatest integer less than or equal to x, then the value of «+ 3 + v is equal to :

Options :
86435112891, U
86435112892, 10
86435112893, 20
86435112894, 22

Question Number : 66 Question Id : 8643514296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1
10[gin 27rx] =

W | g dx =ce "4 Be 2 +y, @ o B,y & UG 3Med 30T [x] & x f&ar x Uan
0 e
ST STV #EwH YUNd (greatest integer) GeIfad, TR a +B +y o Hod aRIEX e
Options :
86435112891, U

86435112892, 10

86435112893, 20

86435112894. 25

Question Number : 67 Question Id : 8643514297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the curve y=y(x) is the solution of the differential equation

5/ 1/ 9
2(x2 A x4)dy—ylx + x*)dy= 2x* dx, x > 0 which passes through the point

4
(L 1 3 loge 2] , then the value of y(16) is equal to :

LY

Options :

4(3—1 ﬁlogfﬂ
86435112895.

(2% i)
86435112896, '

(% I —Iﬂgﬁﬂ
86435112897. %

4 = b — log, 3}
86435112898 :

Question Number : 67 Question Id : 8643514297 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

W y=y(x) T B 22> + x4)dy-y(x + i) dr= 204 dx, x > 0 AT FAFEd WABON

| 4
(differential equation) @ Jbel 3M& 0T T I (L 1 o Iﬂge_?ﬁ] 1 fégagd WE1, 9¥ y(16)

9 o §XEY e,

Options :

86435112895.

L
86435112896. i

86435112897.

86435112898.

Question Number : 68 Question Id : 8643514298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation

cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x _%, y(0)=0. Then, y(% is

Sy -

equal to :
Options :
2log, [—%‘ﬁ 8]
86435112899. % g
2 L:}gt,_ [‘ﬁ l ’TW
86435112900. 2
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3.3 +9 )
EIOBE[J_T|
)

N

86435112901.

zmgﬁ{?ﬁ | 10)

86435112902. L

Question Number : 68 Question Id : 8643514298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A y=y(x) ()

cosx(3sinx +cosx + 3) dy=(1 +y sinx(3sinx +cosx +3))dx, 0 =x = % a1 fadboid FHIGIU

(differential equation) T ¥&dl 3ME, y(0)=0 T y(%} ERIER e,
WS
Options :

2 IogH [
86435112899. .4

(33 3]

2log. [‘Ezl ?W
J

86435112900. ¢

3
2 log, [—2\2 - |
s J

86435112901.

zmgﬁ[?ﬁ | 10)

86435112902. ¥ 3

Question Number : 69 Question Id : 8643514299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

! ’11}
2 sm‘ Y lx.x =0
[ \x.)) . Then fis :

Consider the function f: R — R defined by f(x) = {
| 0 , x=10
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Options :

monotonic on (0, =) only

86435112903.

monotonic on ( — %, () only
86435112904. )
86435112905, monotonic on (— %=, 0) w (0, =)

not monotonic on (— =, 0) and (0, =)
86435112906.

Question Number : 69 Question Id : 8643514299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f: R — R barEl f@R &0, &

Bl AE. T & ___ 3Te .
Options :

86435112903. ad (0, =) & U (monotonic)

86435112904 (o, 0) N TP

86435112005, ¢~ 7 O (0 =) X Td :

86435112906, (~ =+ V) T (0, ) I Uh¥di-Ih THUM

Question Number : 70 Question Id : 8643514300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of

[r] + [2r] + ... + [n1]

=

lim
n—soo n

¥

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :
Options :

86435112907, ©

r

86435112908, 2

86435112909, 2T

86435112910. 0

Question Number : 70 Question Id : 8643514300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim r] + 2] - 5 - o] T EEY 38, Wil r 8 Y T¥elell (non-zero)

n—oo n T

drdd §&1 (real number) 32 JMUT [r] & r fdhdl r UST <@F IEUN HZH ‘CIC"UTTEF» (greatest
integer) S,

Options :
86435112907, ©

r

86435112908, 2

86435112909, 2T

86435112910. 0

Question Number : 71 Question Id : 8643514301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Let a computer program generate only the digits 0 and 1 to form a string of binary numbers

with probability of occurrence of 0 at even places be 5 and probability of occurrence of 0 at

1
the odd place be 3 Then the probability that “10" is followed by ‘01 is equal to :

Options :
1
86435112911.

- -

86435112912.

03] =

86435112913.

86435112914, 18

Question Number : 71 Question Id : 8643514301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHl fgue H&iEl (binary numbers) U6 &S (string) THGUIMICT U HHYCY URH Hds P

ﬂWlﬁWWWﬁWWDWHW%WEWW

: 1 . .
Wﬂmﬁ?ﬂﬂw€ Ae. O7 ‘107 =T Fdx ‘01 AvgrEer™l H9eddl aiay

e,
Options :

1
86435112911, 9

1
86435112912, ©
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1
86435112913,
I |
86435112914, 18

Question Number : 72 Question Id : 8643514302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

equal to :
Options :

86435112915, 260

86435112916. 964

86435112917. 333

2
86435112918. 210

Question Number : 72 Question Id : 8643514302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WY Tl Breiur ABC =1 o 9] AB, BC 3MfoT CA 9% 3(J&H 3, 5 3101 6 id¥ HFMia fog
e, T AT giojdl BRI g TaN ST 3ieiedl HpIvnidl Upur & avEe

<IES
Options :

86435112915, 260

86435112916. 364

86435112917. 333

2
86435112918. 220
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Question Number : 73 Question Id : 8643514303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the tangent to the circle x>+ > =25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having,

centre at the incentre of the triangle OPQ, then r? is equal to :

Options :
125
86435112919, /2
625
72
86435112920,
'529
86435112921, O
'585
86435112922, ©P

Question Number : 73 Question Id : 8643514303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 22+ y2=25 AU gl dadal R(3, 4) 1 feigaiel WiRieT x—3el M0 y—&l Tl ey
P anfiy Q féfgg #ed. o) r & ayordl Biodl (radius) 38, o 9U® ARHANG O HEH Sl S
Wl dafdg AOPQ =1 JidRd=l (incentre) ¥ 38, X r2 §IEY e,

Options :

86435112919, /2

86435112920.

86435112921.

75/91



3/18/2021

'585
86435112922, ©P

Question Number : 74 Question Id : 8643514304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LetS,, 5; and S; be three sets defined as

S, ={zeC:[z-1 =2}

[ze C:Re((1-i)z)=1}

LN
ld
I

S; = {ze C: Im(z) = 1}
Then the set 5, ™ S, M 55

Options :

has exactly two elements
86435112923. =

86435112924 has exactly three elements

86435112925, 1S a singleton

86435112926. has inf nutel}-' many elements

Question Number : 74 Question Id : 8643514304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHAS,, S, 3T S, &

S, ={zeC:|z-1 =42}

S, = {z € C: Re((1 —i)z) =1}

Sy = {z e C:Im(z) = 1} FiHT Ff¥=d

defell UH €4 3ed. TR S, N S, N S, AT FaM

Options :

86435112923 ddlad & 9cd 3ed
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86435112924. i

T+l Hd (singlet e
86435112925. i

3+d 98 UCH (infinitely many elements) 3f&d
86435112926. : !

Question Number : 75 Question Id : 8643514305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e~*sinx. If F : [0, 1] — R is a differentiable function such

. X . 1 .
that F(x) = j f(t) dt, then the value of jﬂ{F'{x] [ f(x}]eldx lies in the interval
0
et oy
360" 360

'[32? E]
360" 360

Options :

86435112927.

86435112928.

[E E}
86435112929. 360~ 360

[ﬁ ﬁ}
3607 360

86435112930.

Question Number : 75 Question Id : 8643514305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT f: R — RE f(x)=e *sinx 7 ff¥9d &el @&, WX F: [0,1] —» R T dpa-g &

: 3 7 |
(differentiable function) 3¢ W¥ @1 F(x) = j f(t)dt, o¥ [](F'(X] Ff(x)e'dx @ Hwa @
0

Tl Al e,

Options :
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[33[] 331 }

86435112927, -60 360

[32? 329]
86435112028, ~000 360

[331 334}
360 " 360

[335 336}
360" 360

86435112929.

86435112930.

Question Number : 76 Question Id : 8643514306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6
The value of {ﬁfj’, . ‘{"I_"f, ,_] is equal to :
r=0

Options :
86435112931, 924
86435112932, 1024

2
86435112933. i

86435112934, 1324

Question Number : 76 Question Id : 8643514306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B

Y (°C - Co ) AR RS I,
r= 0
Options :
86435112931, 224

86435112932, 1024
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.
86435112933. 1124

86435112934, 1324

Question Number : 77 Question Id : 8643514307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

[==1
|
=

e ]
L
I3
e
[
]
|
|
(=1

line

x—2
= = and containing the line = = is

ax +By +yz=24, then a+ P+ is equal to :
Options :

86435112935, 21

86435112936, 20

86435112937, 17

86435112938, 10

Question Number : 77 Question Id : 8643514307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEL 0 ot a1 Yiea) WaHTd (2, 3, 1) A1 figean SREIe URA (mirror image)

2 1 1
x-2 1 z +1
HEEIWG?ITWTJ,; = ?y= : T VYAl HHEUR Uoel e, T Ul FHID
ax+ By +yz=24 @, W a+tP+y W ____ &
Options :

86435112935, 21

86435112936, 2V

79/91



3/18/2021

86435112937, 17

86435112938. 13

Question Number : 78 Question Id : 8643514308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle x> +y*—2x — 4y +4=0, such that the

. :
angle between these tangents is tan (—_W where tan”! EW e (0,7). If the centre of the
5 ) L,

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of
the areas of APAB and ACAB is :
Options :

86435112939, 7 4

86435112940.

86435112941.

86435112942, 1114

Question Number : 78 Question Id : 8643514308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x2+y?—2x— 4y +4=0 I Ggeren P 65 IR S WRIGT (tangents) HIecdl 3Mad, W9 &I &l

oA A .tan_l(%] as, e .ta_n_l(lgz] e (0, ). SR e HaRE C ¥ e

L9

3re affor a1 FafkieT aqwren g A T B 7 ¥¥) $a, T APAB ST ACAB =1 &5Ga@d
TG0 UK (possible ratio) CIES

Options :

86435112939, 7 4
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86435112940.

I
[=1

2
86435112941.

86435112942, 1114

Question Number : 79 Question Id : 8643514309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2 tanx = ? in the interval [0, 27| is :

Options :

2

86435112943,
86435112944,
86435112945, 4

86435112946.

Question Number : 79 Question Id : 8643514309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x + 2tanx = % g1 HHIH YOI [0, 2] A1 ST A1 (in the interval) Idheildl |l

CIES
Options :

-2

86435112943,
86435112944,
86435112945, 4

86435112946.
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Question Number : 80 Question Id : 8643514310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let L be a tangent line to the parabola y>=4x — 20 at (6, 2). If L is also a tangent to the ellipse
2
o
b
Options :

H.
I\J| o

=1, then the value of b is equal to :

[==1

86435112947, 11

86435112948.

86435112949.

)
86435112950.

Question Number : 80 Question Id : 8643514310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHG L 8 y?=4x— 20 T 3<% (parabola) =T (6, 2) AT fdiggiled qfeTepT Y1 (tangent line) 32,

RLA L + L =1 o1 fagam® (ellipse) GgT WIS 31, T b I Jou TR

Options :

(=]

86435112947, 11

=

86435112948. :

86435112949.

86435112950. 2

Mathematics Section B
Section Id : 864351288
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Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351288
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643514311 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. a
Let I, = jl 3 (log/a)™ dx, where n e N. If (20)I,,=aly+ Blg, for natural numbers « and f3,

then o — 5 equals to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643514311 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A I, = rxlg (loglx)™ dx , W@ ne N, WX (20),=aly+Bl; , o« 0T B “NFE F&I

1

(natural numbers) o, ¥ a B ENEY e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514312 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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(2n—1)

Let tanw, tanp and tany ; o, B, v # T ne N be the slopes of three line segments OA,
2

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

) ’ : 3
and its orthocentre lies on y-axis, then the value of { cos3a + cos 3P + cos 3y

.
W is equal to
COS o COS B cos vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514312 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

OA, OB anfiT OC 31 TH YurE sl (line segments) T (slope) 3#H tane, tanf 3T tany;

o B, yz BT 1 N am®, Sf@ O & ARHRG (origin) 3E. WX AABC =1 UR$E

2

(circumcentre) RY gl &= ame for T ATHIT (orthocentre) y—HEEY &, Y

.[co:-;?iu + cos 3B 4 casfﬂ’r‘,ﬂf ﬁjﬁw .

COS o COS [5 COS v )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514313 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If 1, log,,(4*—2) and If}gm( = ;w are in arithmetic progression for a real number x, then

the value of the determinant is equal to :

=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514313 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WY x T1 9ad §E&NICT 1, log, (4 — 2) 30T logyg (4 * ;w B 7O &Gl (arithmetic progression)
! 4

E WA, T | = | W RIS (determinant) ¥ eI SRTER e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514314 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the
variance of the new set is k, then 9k is equal to

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643514314 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3n WEITl WOEl YERUl (variance) 4 3&. 91 ol [dOR &1, 91 SOWe] Ufdcdl 2n S
HE 6 TS ST VNfdeied] n HEITl 9e0 3 6. TP T4 €4 31 FAR bl e B Ufeedn 2n
=T U] e 1 fAsdiel 3T AfEeiedl; n H&I=A YT ALY 1 Tull $ed. W} 44 |
a0 k 38, 9¥ 9k WRMEN __ e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514315 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [~ 1, 1] = R be defined as f(x)=ax” + bx + ¢ for all x ¢ -1, 1], where a, b, c € R such

that f(—1)=2, f(—1)=1 and for x € (—1, 1) the maximum value of f"(x) is If f(x) = «,

M| =

x € [—1, 1], then the least value of « is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514315 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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HAG f:[~1,1] = R @ f(x)=ax?+bx+c, §d x ¢[ -1, 1] 31, W@ a, b, ce R GRT Fi¥Ea .
W B f(-1)=2, f(—1)=1 3nfor 4 x e (—1,1) A0 f"(x) 9 A Hed (maximum value)

3 e, W f(x) = o, xe[~1,1] T a ° &8 (least) ¥ XY _ ;.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514316 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g n
Let the coefficients of third, fourth and fifth terms in the expansion of {1 [ iﬁw ,x20, be
\ x=J

in the ratio 12: 8 : 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514316 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GRl) [x I iﬂ , xz 0 7 fa&INT (expansion) A8 fere=a1, diean ST Uraedl Uaid W uie

% X A

(coefficients) 12:8 : 3 I1 YAIUIG 3Ted. X 41 [T AGIeT x 9 3L (independent) U5 SRR
3Te.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 87 Question Id : 8643514317 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

|rmi11 {[I I ﬁ],xz], 3=x=0
f(x) = '

t:nm- {-,E,J:E}, U= x = 1.

If the area bounded by y=f(x) and x-axis is A, then the value of 6A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514317 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Al f:[ -3, 1] — R Seiel 3@ &

|rmi11 {[x + 6), 1‘2}, 3=x=0
fx) = '

t:nax {Jf,xz}, O=x=1

WX y=flx) ST x-3& Tl ST (bounded) Hefel &Fhad A &, ¥ 6A o Hed TXIEX

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514318 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let P be an arbitrary point having sum of the squares of the distances from the planes
x+y+z=0,Ix—nz=0 and x— 2y +z=0, equal to 9. If the locus of the point P is

x2 l.r2 t z2=0, then the value of ] —n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514318 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TG P & U DIUCE &g 3T x+y+2z=0, Ix—nz=0 M x— 2y +z=0 TT Yqadi IRLTI
=TT N SXIS §RIEY 9 M. W x2+ 2 +22=9 & &g P 9 f19M (locus) &8, T [-n T
qed §REX arre.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514319 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M Y M — A A M
Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j—k. If the

— Y

vector x is perpendicular to {37 +2j— k| and its projectionon a is , then the value of
2
2
‘_} is equal to -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 89 Question Id : 8643514319 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WHGl a=2i— j+k SO b=i+2j—k A WEA GHAS JEOR GAATH 1 & b W

s, WX ERY x ¥ (374 2? k| < o o T AT 2 a9t W (projection) 1746 gy,
| 2

S .‘;2 I 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514320 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C

| i ' ] [0
Let A = [a ;} and B= [;j ,—;[”] such that AB=B and a+ d= 2021, then the value of ad — bc
G

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514320 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b

c d

} arifor ﬁ:Hz-m W% @ AB=B &1 a+d=2021, T ad—bc ¥ T

TGl A = [
P

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

91/91



